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1.1. Who wrote that society

generis' ?

(A) R. Brown
(B) Emile Durkheim
(C) Saint Simon

(D) Auguste Comte

The term reference group

introduced by :

(A) Hyman

(B) Meton

(C) Srinivas

(D) Cooley

was first

Who gave the 'I and 'Me' theory of
socialization ?

(A) S. Freud

(B) G.H. Mead

(C) C.H. Cooley

(D) E. Durkheim

Identify the correct sequence of
disciplines according to hierarchy of
sciences-

(A) Sociology, biology, Astronomy,

Physics

(B) Biology, Physics, Sociology,

Astronomy
(C) Physics, Biology, Astronomy,

sociology

(D) Astronomy. Physics. Biology.

Sociology

Who said that " The primary group is

the nursery of human nature" ?

(A) Charles H. Cooley

(B) George Herbert Mead

(C) RalfDahrendarf
(D) Karl Marx

frtu-i ftET fu nqm 'wo, w^d' t ?

(A) sIRo dls"l

(B) Srr{-d sdq
(c) iie qrET{

(D) fr,Re oTE

q<rf w1E uq rrdqafi ftffii qdrT fu-q :

(A) Erirm

(B) q-cq

(c) sftH-drs

(D) 63

frrqri

fuGT( ftqT ?

(A) Vq trFls

(B) fro gao fts
(C) {fro fao o^d

(D) {" gU,

oT 'q' 3il( TS ol

ftE Ni oT ft.flH {ilT{f,q d uyt
e-S mq o1 q-6-qn dtfu-
(A) HriluRlltr{, ffisTq, q.ild fr-flrq,

,nfufr fr-arq

(B) ffiFTq, rrtfto frflq, {rrtm{rtrt,

s.ila fr-arq

(c) dfr-fi fr-f,H, fiq fr-+tr, srld
ftfltr, Hllul{lrcl

(D) s.qtd fr-flrq, ,nfufr fr-*rl, ft-q

fr-arq, $IIM{ittr{

frxr-i oa 'qraTfrfi qTd qTq-frq erq-ex o1

rsft t" ?

2.

3.3.

4.4.

5.5.

(A) qreio qq" O^d

d-d Efu fic
qrffi tEw
ord qTRi

(B)

(c)
(D)
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6.6. Who has classified the social action

into four types -

(i) Goal-Rational

(ii) Value Rational

(iii) Affective and

(iv) Traditional
(A) Max Weber

(B) Pareto

(C) Parsons

(D) Merton

For whom "history is a graveYard, of

aristocracies" ?

(A) Karl Marx

(B) R. Collins

(C) V. Pareto

(D) Emile Durkheim

Match the List-I with list-Il and select

the correct answer from the code

given below:
Lisrl List-II

a. G.H. Head (D Verstehen

b. V. Pareto (ii) Alienation

c. Max Weber (iiD Role taking

d. Karl Marx (iv) Circulation
of Elited

Codes :

abc
(A) iii i iv
(B) iii ii i
(C) iii iv ii
(D) iii iv i

9. Who is the author of the book 'Rules

of Sociological Methods' ?

(A) Max Weber

(B) Auguste Comte

(C) Viflredo Pareto

(D) Emile Durkheim

ftffii qmrkch- frqT o1 ?N mI-ii-

(D orff-o-aeq 66.6
(ii) drfu'6 p udR-o

(iii) lilq-iro

(iv) q{trNl-rrfl fr o,Xro fuat t
(A) q-ffi ilqI

(B) qu
(c) ql{s{{

(D) Tiq

frN-d frq 'gfudrfl 3Tft-qrd q-i of o-flm

t'?
(A) oT-d qTd

(B) sINo o\fu{{
(c) fro ffi
(D) iqrEa sdh

qfr-r'
a. frov{o ft€
b. froffi
c. t-flt i-d{
d. 6r-d qTwi

6-e :

a

(A) iii
(B) iii
(c) iii
(D) iii

qfr-tI
(i) q-ft-tq

(ii) frnquq
(iii) Tfr-fiT 

qinT

(iv) quld Ei,il
or qkqro-q

1.l.

;
Ed

r't

8. 8. qfl-r o\ qfi-rr t gmno elfr\ rq fi
frq .ri qe t s-S sai ot qq{ 6i:

bcd
llv11
iiiiv
iviii
lV111

d
ii
iv
i
ii

s. 's-ffi 3ilq rirfuffifuoa tus' 5-+o
t'q{ ot{ t ?

(A) t-firr ilqT

(B) 3TI-rRu Oiru

(c) ffi qtd
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10. Which are the works of G. S.

Ghurye?

(D Tribal Heritage of India

(II) Caste, Class and Occupation

(III) The Scheduled Tribes

(IV) Indian Sadhus

Select the correct answer from the

code given below

Codes :

(A) IV only
(B) I, III, IV
(c) II, III,IV
(D) I, II, III, IV

Who among the following has used

the dialectical approach to the study

of Indian society ?

(A) M. N. Srinivas

(B) D. P. Mukherjee

(C) S. C. Dube

(D) Y. B. Damle

Who is associated with civilizational
approach to study Indian society ?

(A) A. R. Desai

(B) N. K. Bose

(C) M. N. Srinivas
(D) Andre Betelle

13. Who among the following sociologist

has considered purity and pollution as

the primary characteristic of the caste

system ?

(A) L. Dumont

(B) G. S. Ghurye

(C) M. N. Srinivas

(D) A. M. Hocart

fro gso git dr EfrqT ot{ m t?
(I) Fr{q-d tRtq ds iiRqT

(ID mlE, ftllfl q-s qm*Iiq

(rrD E t-q{d HEq-q

GD Vtrsq-q {flt3l
+n frt u$ qe { t rrfr sn{ oT ao-{ ot
qre :

(A) dq-a ry
(B) I, III, IV
(c) II, III,IV
(D) I, II, III, IV

r 1. frtq-i ,ili-fiq
3Trq{q d qfr r<Tc-f, tssFI-II

tuqrt?
(A) Y{o T;lo sftfurfl

(B) 0o fto $ufr
(C) gtlo fro (i
(D) o(o fto ord

t2. qT{fiq HqM d sTsqrn t {flqflmf,

EM"r S q+sT otr Eo EstT t ?

(A) \o sxo tqn{
(B) glo do Bifl

(C) Y{o T{o frF-fl-fl

(D) 3ni n+{

10.

{{IIM d
or sqqtq

11.

12.

13. frrq t t fus i gfudr gq

q-Sq e\ wft qRaIT of ugtu frtEdT d

sqtfrfl{fuqTt?
(A) \Eo €.TIT

(B) fro gso gR$

(C) Y{o T{o +frhqrfl

(D) \o YIIo frfi-|-d
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t4. Which one of the following is not a
push factor of rural to urban
migration ?

(A) Rural unemployment
(B) Increasing practice of dowry in

rural areas

(C) Rural Poverty
(D) Decline of cottage and

household industry in

'Rurbanism' is a term that is related

to the study of-
(A) Village
(B) Town and cities
(C) Rural areas

(D) Life-styles of rural urban people

16. Match the List-I with List-II and
mark the correct code given below :

List-I List-II
(Authors) (Books)

a. Mekim (i) India's
Marriott Villages

b. M.N. (ii) Indian
Srinivas Villages

c. B.R. (iii) Village
Chauhan India

d. S.C. Dube (iv) A Rajasthan
Village

t4. ffirfud t r\ otq-qT {er orro rS t,
m dFT .trdi t qlrt ftl Gri( GrT {t t?
(A) ilqnT nqlqrnfr
(B) ilSnT H i Eiq yqr t G
(c) ilfrnT Terfr
(D) ilqnT elli t qdrt oen Cq s-ffi

OI U{I

15. 'urq-qrffiq-qr{uT' q"6 W frrq-d oTut-fi t
sEf+m t ?

(A) il-q
(B) o-w \rq {15-{

(c) utfinT H t
(D) ilfirr-fltq ffi o1 fi{rnrm o1

a)-e

t6. qfr-r o1 @-n t gmo om\ d{ +n
tr$ T$ oP tt t q-fr or qq{ st

15.

17. Correlation coefficient always

between:
(A) I and2
(B) I and 9

(C) -1 and +1

(D) 1 and 0

gfr-r
(ds6)

a. tfuq tR('c

b. ({o $o
*fu{s

c. fro 3IRo

tdTq
d. gto ifro gi (iv)

6Z:
a

(A) i
(B) ii
(c) iii
(D) iv

t7. $6-sRl-.q yn6 stq {-{d qw drar t :

(A) r eilq z

(B) r eitq o

(c) -r eilr+r
(D) rsNo

q-fr-II

$a-d)
(i) $Eqm

fr-+-q-tT

(ii) Sfuq-{ fr-frq

(iii) frtq $Rqr

Codes :

a

(A) i
(B) ii
(c) iii
(D) iv

q $q-{eil-{

ft-&-qbcd
ii iii iv
iii i iv
iivii
iii ii i

bcd
ii iii iv
iii i iv
iivii
iii ii i
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18.18. Which is the correct formula for

calculation of mean by direct

method?

(A) Mean: +
(B) Mean: rtu*.1

(C) Mean:A-r'o*
N

(D) Mean:A*+

19. Who gave the definition "A
hypothesis is a tentative

generahzation, the validity of which

remains to be tested"?

(A) G.A. Lundberg

(B) P.V. Young
(C) W. G. Goode and P.F. Halt

(D) P.S. Cohen

20. Which method is more suitable for

collecting data from non-literate

communities?
(A) Questionnaire
(B) Observation

(C) Both A and B
(D) None of the above

21. Who gave the concept of 'Marginal 21.

Man' in the context of migration ?

(A) G. S. Ghurye

(B) S. C. Dube

(C) C. P. Blaker
(D) Robert E. Park

22. Which of the following condition is 22.

characterrzed by second stage of
demographic transition ?
(A) Low birth rate, low death rate
(B) High birth rate, high death rate
(C) High birth rate, declining death

rate
(D) Low birth rate, high death rate

qrw of ryFrT ori q{ treteT ftB oI
otq-qT u-8r qd t ?

(A) qTw = +
(B) {ftrr=fxer
(c) ffirr=A-+
(D) rfrtlr=A*+

frrq-i q-g qfoim fr "Tfr srlir-dr{r g{
olrrlcn\F rilqrq-fittr,T t ftrq-ot irldT ot
d-q qr+t rd-fr t' ?

(A) fro qo g=Gqtf

(B) fto fro tiq

(C) Gusto fr" TS Tq fto {so E[e

(D) fto goo ffi

i-q-Hrerqi d srm-t r6Fa-d o-C d frr
o)q-m q-{fr qEr BqTfr t ?

(A) q{{l.rdl"

(B) 3r-q-d)--f,-{

(c) AGil{Bq'rr)
(D) Bqgffi t t oti Tfr

tr{s{ d q-<{ { 'frq< qfrf,' fr1

3iqqRur ftrHi fr ?

(A) So gco gRi
(B) goo rto gi
(C) qfro fto Coq
(D) irqd {" qrd

frq t t fu-s fte{fr dr s{ifudq dmqnT

of qufr ciircsrl d sq t frfrd fuqr qr
q-mTr t ?

(A) ftq qq e<, ftq Tcg (i
(B) s@ s;+{ (t, sa Fg (i
(c) s@ "rq et, frrrft d f.g qT

(D) ftq wq ({, s@ Tq E{

19.

20.
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23. Which is the first country to initiate

family planning programme ?

(A) England

(B) Sweden

(C) America

(D) India

Who is the author of the book 'The

population of Indian and Pakistan' ?

(A) T. Malthus

(B) Kingsley Davis

(C) Peter R. Cox

(D) M. K. Premi

Match the List-I with List-II and
choose the correct code given below:

List-I List-II
(Feminists) (Books)

a. Simone de (i) The

Beauvoir

b. Mary
Wollstone
craft

c. Sulamith

Firestone

d. Juliet

Mitchell

Dialectic of
sex

(ii) Women's

Estate

(iiD The second

sex

(iv) The

Vindication
of the rights

of women

23. qR-dTq mrf,{ o-d-6q of q6-d o-{i
q6-dr trT t :

(A) F-d's

(B) r+s{

(c) srtR-67

(D) qr{d

24. 'E qr5drn &fw $trsqr \w wfu'F

rTTfi 5ffifr d fuo ot{ t ?

(A) 0o {l-ceNl

(B) fu-t-d.0 tfrH

(c) ft-eq qri oT-ffi

(D) \tro do tft

24.

25.a
H
r{ qfr-n

$ird)
q clT&furflT

3rffi trffi
gtqw q€eb.

c. (iii) E t.dne tffi

(i") E frfr.drn
3IS q iT{-s
srTF g+rCodes :

(A)
(B)
(c)
(D)

o-d :
A

(A)
(B)
(c)
(D)

abcd
iii iv i ii
iii i iv ii
i iii ii iv
ii i iii iv

abcd
iii iv i ii
iii i iv ii
i iii ii iv
ii i iii iv

2s. qfr-r o) r1.fr-u t d q-d d eru git
of oilq +n frt
qq-{ 6f

qfr-r

.r$ op t vS urq

(qr0-drfr

a. frqlq
g3rT

+er

d.dCq
m'Frc

gaftei
qTqidq

Efuqz
ft.nd

fr (i)

(ii)
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26. Which decade was focused on therights of women by the united
nations?
(A) 196s_te7s
(B) teTs_tels
(c) 1eSs_1ees
(D) tees_200s

27. Given below are two statements one
is labeled as assertion (A) and other
as Reason (R) :

Assertion (A) : Gender as the basis of
social inequality is strucfured into
female and male spheres_
Reason (R) : All women are not
equally unequal in their families and
communities select the correct
answer from the codes given below :(A) (A) is true, but 6lis false
(B) Both (A) and (R) are false
(C) Both (A) and (R) are true, but(R) is not the correct

explanation of (A)
(D) (A) is false and (R) is true

28. Who^ among the following is noted
eco feminist ?
(A) Vandana shiva
(B) Nirmala Benerjee
(C) Shanta Sinha
(D) Bina Agarwal

Who has given the concept of .Born
criminal'?
(A) Sutherland
(B) Lombroso
(C) Gilline
(D) Park

Sampurnanand Ashram is associated
with which of the following ?(A) Borstal school
(B) Open Jail
(C) Closed Jail
(D) Remand Home

26. e!ffi.irw Em toq EIIfi C qtrdrcT dGtffi q{ dkd fuqT TqT ?
(A) 196s_197s
(B) reTs_te8s
(c) l98s_199s
(D) tees_200s

27. +n E) oen fri Ti t, Vo oi 3rftoefi(f ,ft $rt C oriur (R) qi6r rrqr t I

311r1-oe;r (A)^: fuT C Tfr deiT gsq eiri
d er<r wmrffi-o Gt{HFtdr d-.il-rn d w
d Ti{fud fuqT q-qT t r

orfiF 1R) : {+S M orqi qfr+t oqr
$"1i t ro {flrn Eq ii offlqTq q-S d r+n fri Td oS fr rr-S B-dr 61 4qq
+}frrt :

(A) (A) qFq t, u-cg (R) 3rfl_cq t(B) (A) aflr G) ++ .m--.q t(c) (A) oil{ $) dqi H-.q t r$g (R),
(A) il q-fr aTrqT TS t

(D) (A) 3mcq t 3ili (R) s._q t
28. ftq t t ot{ $ni Sfrtuu d sq fr

frcqrd B ?

(A) aqrT frr-a
(B) Fd-dr q-i-fr

(c) rTr;dT fu-€.
(D) fifl,Gi-qqTd

2e. qr{$, of q-qqm furri fi t r(A) HEidn-s
(B) d)Bh)
(c) ftfrq
(D) qrd

30. qqrrfi< orTsrq mfuo d t furfr
Hq-q t ?

(A) niw-o r+3
(B) g-dT d.d
(c) q-q t-d
(D) vfiwr Td

29.

30.

Series-A
PAT-2021
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31.31.

32.32.

Borstal school is associated with :

(A) Insane offenders
(B) Young offenders

(C) Adult male offenders

(D) Adult female offenders

Who, from among the following has

discuss the functional aspect of
conflict ?

(A) Karl Marx
(B) R. Dahrendorf
(C) George Simmel
(D) Lewis A. Coser

Who has criticized Marx and gave the

theory of communicative Action ?
(A) Hobermas

(B) Goffman
(C) Althusser

(D) Schutz

Who has used the terms 'Front stage'

and 'Back stage' to understand
human interaction and behaviour ?

(A) Habermas

(B) Goffman
(C) Mead

(D) Blumer

35. Poverty is generally defined into two 35.

ways. select the correct answer from

the following :

(A) Positive and Negative

(B) Social and Economic

(C) Absolute and Relative

(D) None of the above

Bt{d-d vq-a nqftro t' :

(A) qnra 3rq-iTfudt

(B) gqT qq{lDdi

(c) T{{o 5sq 3rq-iTDqi

(D) Trfw qkdr qq(lmi

ffifu({tfuTiiqqtdq-nrqi(
qqT of q-qt of t ?

(A) oT-d qTqd

(B) Gil(o f6t{sd
(c) Ed R$d
(D) dfuqr go otwq

33. frrs-i rTd of srTdi-q-rT of i

vflrq' oT fuflR ftqr ?

(A) iq-iqrfl
(B) rtrq-tq

(C) 3l-ealsi

(D) g.e-q

ftmi qrqq em:fr-fl \rq qr6ri o) qq

d frq 'we rlq' Gil{ 't-6 Cq'
H-f,fl-{r ot sq-q)'q fr-qT ?

(A) t-dqqrfl

(B) rtrFt{

(c) fs
(D) qql

frsft-di Et qfurTqT qFnat(rrn dr qffi
fr qTfr t| ffifud t r\ nfr stq
4woi'
(A) q?FfiriqrD \q TfiRr(Tfr

(B) {flqrfu-fi qq 0ilftr6

(c) ffier gq Hrie{

(D) wi-ff q t o'ri Tfr

JJ.

n
5
. 34. 34.
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36.36.

3t.31.

38.38.

39.39.

40.

The term 'scheduled Caste' appeared

for the first time in :

(A) 1e3s
(B) te36
(c) te37
(D) 1eSe

Right to Education was introduced as

fundamental Right under which of the

following Article of the Indian
constitution ?
(A) Article-17
(B) Article-21
(C) Article-21.A
(D) Article-16

Who said "Urbanism is a way of life'
(A) Max weber
(B) G. Simmel
(C) Louis Wirth
(D) Emile Durkheim

Who has written the book
"Urbanrzation and family change"?
(A) Iravati karve
(B) M.S. Gore
(C) Leela Dube
(D) LP. Desai

According to concentric zone theory,
the core of a city is called the :

(A) Central city
(B) Central business district
(C) Transition zone
(D) Residential zone

41. Who has authored the book "Social

mobility in Industrial society" ?

(A) S. M. Lipset and R Bendix

(B) R. K. Mefton
(C) P.L. Berges

(D) R. Bendix

'3r-Jqfrd ffi' wq rrdqefr !-fiIYr t sErT :

(A) 1e3s

(B) te36
(c) te37
(D) 1e8e

,il{fiq rifrqTq d fus sI5-dE d ir<-,fu

Rre{r o'r oIHoTq q\fr-{ slfuoTi d w d
dq frEI rrqr ?

(A) q-ddE-rz

(B) 3r-5d(-zr
(c) er5d-<-zr-u
(D) eq-d,<-ro

ftnni o-or 'q-.rfiqfl gfr fifi frB t" ?

(A) t-ffi ilqi
(B) fro ftrfa
(c) gfil tuf
(D) Eqr{d F1q

'Grffivrq \rs Sfrd iq' qq-fi TK-6
frrqi ftr-d t ?

(A) {ir{ft oil
(B) gto \rflo I\t
(c) d-dl Si
(D) eir{o fro t$r{

q-dn{d oiq-f, fuflR d erym, qq{ d
fi{CoETEroIt?
(A) dkq q-q-i

(B) d-fiq qlqqTfu-r s,.c

(c) TimqrT da
(D) 3ilqnfiq eld

'SRra mfrfrre fi {.s$q-d {ilHqA"
lrqo g{fl6 frtu-d gRT fukd t ?

(A) Tflo Y{o frlqlii etq cil-{o ffiflI
(B) 3il-{o do {&{
(C) fto gao cdt
(D) 3IRo ffi+m

40.

4t.
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42. According to Melvin Seeman, which
one of the following not variant of
alienation ?

(A) Powerlessness

(B) Normlessness

(C) Meaninglessness

(D) Emotionlessness

When did the government remove the

barriers for investment in India?
(A) 1eeO

(B) 1ee1

(c) tee2
(D) ree3

Who has defined the category of
'Asiatic society' as a type in the

classification of societies ?

(A) Tonnies

(B) Maine
(C) Weber
(D) Marx

Which one of the following group of

thinkers belongs to the linear view of

social change ?

(A) Comte, Spengler, Marx

(B) Pareto, Sorokin, Ogburn

(C) Comte, Spencer, Marx

(D) Comte, Spencer, Toynbee

42. ffiq frtq d GrSHtr frq t r\ otq v
slcmqqK fl xFR TS t ?

(A) eftr0liT
(B) ffir-dT
(c) 3TQls-i-dr

(D) 1ilfl{rfl+--ff-q-dr

qKfl t ftAeT a1 qlsrrci oi Trr+n i o
Wfuqr?
(A) 1e90

(B) teer
(c) tee2
(D) tee3

qqqi d q,ftarrT { 'ffi {rrr-q' of dd

frN-i qfuTrR-d o1 ?

(A) erftq
(B) i-{
(c) ndr

(D) qTrd

4s. ffifod fd-qti-{-Hfd t t ot{ qT q{
srqlfu-fr qMq d ifuq EM"r i
qEf+rd t ?

(A) dE, Crdq, qTfli

(B) q61, qirituT, Grw{

(c) slE, Tirsi, qTfli

(D) oiE, {+fl{, zrqTfr

43.43.

44. 44.

45.

46. Who has considered technology as a
major factor of social change ?

(A) Veblen

(B) Marx
(C) Sorokin
(D) Comte

46. frrg-i ffiffi 6 qTqTfufi qMq 6r Vq

q5s sT{fi qTqr t ?

(A) ffi.{
(B) qTni

(c) {nq)fu-{

(D) orE
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47. Sorokin,s theory of socio and culfural
dynamics has not used the following
terms :

(l) Sensate culture
(2) Ideational culture
(3) Material culture
(4) None_material culture
Select the cor
codes given o",T;. 

answer using the

(A) I and,2

(B) 3 and,4

(C) 1,2 and 3
(D) 2,3 and,4

48. How many stages discussed in the
economic growth theory of Rostow ?(A) 3

(B) 4
(c) s
(D) 6

47. rh0frn + smrfu-6_Hrq_nd_6 ?Tcqrirfi_dr
fuqrn d fuq v-e} oT r+, 

"O 
A* *t,rt,

(t) +rdiilm Wfr(2) ft-qir.q-6 iri?fr
(3) ,+h6 qq-fr
(4) 3tdft-6 q-qft

P ry^u.$ o^e of sdrq-dT t sfi sfi ol
Tq-{ dfrq :

(A) r eil-s z

(B) s efl-s +

(c) 1, 2 3ilr 3

(D) 2, 3 3f{ 4

49. M.N. Srinivas explained the concept
of Sanskritizationin his book :(A) Religion and society among the

coorgs of south India.
(B) The Remembered Village
(C) Caste in Modern India
(D) The Dominant Caste

50. When was
passed in India'untouchability 

Act' 50'

(A) te62
(B) te61
(c) 1e55
(D) tes6

****)t*

48. ffi d qTpf6 hmRT fuq1q fr mTiqi 01 ?-qf of G tZ
(A) 3

(B) 4

(c) 5

(D) 6

4e. g{o g{o 4ft-{m i qrft fw_o {HiPm-iq o1 erqtlrq"n o) sqstqr.t,
(A) frfuuq \n-s M oiq-nT E Erlflefr qrgpr 

SDcqT
(B) E fttq-{d fr.#q
(c) s-r-{t E{ qrsq VUs*
(D) q sffri{ oruu

qma fr Bnyyq-dr s{Dftqq sq qrRd 
$tT ?(A) 1e62

(B) 1e61

(c) 1e55

(D) 1e56
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7.

8.

7.

8.

booklet from the invigilator within
the period of 5 minutes.

Afterwards, neither the question

booklet will be replaced nor any

extra time be give.

(c) After this verification is over, the

test booklet number should be

entered in the answer sheet.

Each item has four alternative responses

marked (A), (B), (C) and (D). You

should darken correct answer in

corresponding circle.

Your response to the item is to be

indicated in the answer sheet only.

Answers marked in question booklet will

not be evaluated. Rough work is to be

done at the end of this booklet.

You have to return the test question

booklet and OMR sheet to the invigilator

at the end of examination compulsorily.

Use of any calculator or log table etc. is
prohibited.

In case of any mismatch of questions, the

English version will be deemed to be

correct, if the question booklet is

bilingual.
For each question, darken only one circle
on the Answer Sheet. If you darken more
than one circle or darken a circle
partially, the answer will be treated as

incorrect.
Note that the answer once filled in ink
cannot be changed. If you do not wish to
attempt a question, leave all the circles in
the corresponding row blank. Such
question will be awarded zero mark.

There is no negative marking.

d-flor sfl-d {emr q{ (wft s-fr

crq-gftn--mT d d t q-q-d ftI oirqof qra

ft-{d P{t qr}.t t us-d qK q f,} oilT+1

erc-5fu--mT q-q-fr qrhft oili q fr
onqo'r orfrRffi lr-{q kqr qd-ql 

t

(c) {fl "f.q d qrE crq-gk--ol of mq

$c{T Bm qrfr qr eifu-o of t

nto yq{ d ftr qri ftf,-@ (A), (B), (q q

@) fri .ri d t 3rq-d s-fr sf,{ d' sqF+rd

l)e o) q-61 6-r+ t t

er-r) d siil{ d-{d sdr qr{ w fr sifrid 6-(i

tr
yr{-5ftfl{T t 3rfun s-ot ot TdT-6q rfr

fulT qdqT | ilzqT oE {fl gkdoT d Grhq

TE w otr

sTqftl qfrqrT T{qrw di w ucn-r-gfu-or o

eilw.or-{. slo ssl frfterf, qEi<q o} Eil-fl{r

3nqrq-6 t t

ffi fr ,rfl-{ oT rrwm (da-qd-ii) q arq tca
Gilfr 6T cqtT sffi-d t t

ftr{ft ,fr cr=r or ttd ftt qrrT ii eiffr rrs-iq
oi q* qt;il qrwr, uR w+gRo-o, fd,rT$tq

rir

,-.t-6 qrq d ft\, sdr q-f6 w dq-a 16 r)-dT

61-61 fls;IT tt qR oIMi Tf, t oIfU6 rtdT

orm fuqr qr cTiRTo sq t \o rtdr or-dr

fuqT, d {q $srcr 6T Gqrq r-dd qFrT q.r$.n 
t

sgi-q t fu fu-€ Eclrct oT E,nar \m qri {qr$ t
q-{ frqr rqr t q-rar q-fr qr s6m I qfr oilq-+t

ftffi qrqra ol q-rnq zn-{i o1 Erut Tfr t, E-q
.ifu d s',fr .ild srfr Bis t tt erri d o)t
3io rS ftq orhn t

fttfrs nffiq c-fr t r

a
rd

r"
9.9.
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10.

11.
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13.13.
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